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8-59. rebound ratio is 80%; (1) = 100(0.8%; See graph below.
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8-60. See below:
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According to this model, it never will; in reality, a DVD player would have no value if it
breaks.

. See graph below.
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8-61. See below:
a.—4
b.2
c.3
d. 10
8-62. 9 weeks

8-63. Yes, she is correct. The lengths on both sides of the midpoint are equal and that (2, 4) lies on
the line that connects (3, 5) and (7, 3).

8-64. See below:
a. Congruent (SSS =)

b. Not enough information
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c. Congruent (ASA =)
d. Congruent (HL =)
8-65. See below:
a.8%; 1.08
b. cost = 162(1.08)7 = $277.64
©.$55.15 (An answer of $50.41 means 0.92 was incorrectly used as the multiplier.)

d. $475.83; Probably not, because the model assumption that the percent increase is constant
would probably not be true for this long.




